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. Whatis an oxide? Py glermewt Chemically combied with Oxyger.

2.

Metal oxides and water form
water form __ A CLCAS

Oxides Worksheet

bases

Complete the following table:

Name: PngW 6(25

and non-metal oxides and

Element Is the element a metal Is the oxide solution
or a non-metal? dissolved in water,
acidic or basic?
Sulfur Nnov- meinl acdic
Carbon noyn— yne iul Qe
Magnesium mtal basi'c
Iron e o Kastc

Use your conclusions in Question 2 to predict whether the oxide of each element

below forms an acidic or basic solution.

a) calcium __ pasvc
b) sulphur

B m:c:\Ol

d) lithium M\ bOS

) nitrogen acn
c) phosphorus _’Q&,gbacﬂ. f) sodium baS\c

Write the correct formula for each oxide.

a) carbon monoxide
b) diphosphorus pentoxide
¢) sulfur dioxide

d) aluminum oxide _ A}, 0
e) nitrogen dioxide __ A} OF)
R "

f} barium oxide

Write in words the products of the following reactions. Then write in the balanced
chemical equations for each reaction below the word equation.

a) nitrogen dioxide plus water produces hydrogen nitrate (nitric acid).

_ N0, +Z Ko —

b) lithium oxide plus water produces

HVO,
Lithivw 'h\;dmm'c(c -

Ly O + H,0 — Z LiOH

¢) magnesium oxide plus water produce

MO +

d) carbon dioxide plus water produce

CO, +

YV“tﬁiﬂfS!Um hu clvoxy de .

HO — Mﬂ COH)

Cﬂwhﬁwlf ac(c,{ [ff\\{dvoﬂcm (qylaoma'lt)

HZ O ‘——"""7

H, €O,



SNC 2DI Name: A nSev s

Acids and Bases Worksheet

7. Strength of acids and bases on the pH scale.
a) Base #1 has a pH of 9. Base #2 has a pH of 13. Which has the greater
concentration of H" ions? _#| _ Which is more basic? _*#Z __ How many
more times basic is your choice?___[O1 _¢7 10000 X

b) Lemon juice has a pH of 2. Vinegar has a pH of 5. Which has the greater
concentration of H* ions? Jmsa ypiceWhich is more acidic? ke jwice How many
more times acidic is your choice? _[0 % er 1000 ¥

8. Neutralization of acids and bases.

Write in the products for each of the following neutralization reactions and identify

the salt produced. Balance the chemical equation. ~ Calervm
a) 7 HCl(ag) + . Ca(OH)2(aq)> 2 _H,Q +_ Call, (¢ alis) chocidk
b) __ H.SO4(aq) + 2 LIOH (aq) > 2 +_ _LipSoy It sulble
¢) __ HsCOs(ag) + Z_KOH (ag) > 2 }j;% +r O _polassiven  cavibonate
d) 2 HsPOs(aq) + > Ba(OH): (aq)> b _H,D + bavivan phwd«wlr
e) __ HNO;(ag) + ___NaOH (aq) > __ + rodivnn i hate

9. You are required to make the salt CaSOq in the lab, but are given only the following

chemicals:
BaO Ball SO, COs 385
LiOs K20 H.O SO; CO;

Use balanced chemical reactions to make the necessary acid and the base. You will
then use a balanced chemical reaction to show how your acid and base can be used
to make CaSQ,

R_)eaction 1@%he A;If\r\ . 'SO-ﬁ + H},O —> H 3§O Y (5g)
[—1 |

Reaction 2 — Making the Base:

> CalOW), ran: CaQ + H,0 =7 CaCOH)i{qﬁ

h

Reaction 3 — Making the Salt (neutralization reaction):

> Cal OHY, ag) +  Hy GOy gy —2 Z H, O Cagy + (alOya, )

T T




Acid and Base Worksheet
SNC 2DI Name: f_llm ;U\_jéu

Goal * Check your understanding of acid and base terms and reinforce some of
the concepts that relate to the strength of acids and bases.

What to Do: Answer each question in the space provided.

1, Compare and contrast the following terms in (a) and (b). Define (c)

(a) strong acid, weak acid (give an example of each) : . 4 , -
<> ?‘7 EDH\t:ﬁE'}E‘L} o128 1IN S alution 1.€- HC’(‘N}_}__?}"’»,‘Z;C’(Q;)

> ea} = ?ar*\hl.l\fr toni2¢s n Soluhon e .CH, (00H &> HE,r CHs (09 CHf(t_f‘;

(b) concentrated base, dilute base

> b mudd e H,0 and a Mﬂ‘ﬁ. 0w _Concen bruhon of HF
> o\'tfm\'t—-? Cotmns  mucly m o HlO

(c) percent ionization of an acid or a bas

>_ T F}Pl"{fg}ixﬁt of e aced g lpase Hhat gepc(mﬁ’S
> mﬁ) ‘\‘S yonS udf\i’m t{)ul‘\' 1}/\+D Coluhsn

2. What is the percent ionization in each solution below?
(a) solution 1: 10 out of 100 molecules of acid ionize
> 0100 _=Z0.1  *]00A = 10/,

(b) solution 2: 500 out of 1000 molecules of acid ionize
> RO0/I00Y = 0.5 fo0/ > S0 Y

(c) solution 3: 100 out of 500 molecules of base ionize
2> : = Nyl = D/

(d) solution 4; 3 out of 100 molecules of base ionize
= 2/100 = 0.0% £pe/ = 2°/s

3. Based on your answers for question 2, answer the following questions. Assume that
all the solutions are equally concentrated.

(a) Which solution has the lowest pH (highest concentration of H*)?
> ¥

(b) Which solution has the highest pH (lowest concentration of H*)?
> £5




4. a) Name two qualitative properties that are the same for water and very concentrated
sulfuric acid . .
> _Q]lear (olowv lees ;I‘ ?_-L-fl_tds

> Kee{_:» g‘hmOM(ulﬂ clear

(b) Name one qualitative property that is different for water and very concentrated
sulfuric acid.

S water > BTA s 'b&é& blue occcdd= BTE Fuwms tje//ou-d
5. (a) Write the equations that show the ionization of carbonic acid. It is a weak acid.
2 L=
> = Hjm_‘} 4 Co'zfu't N H_?_(O':lf....a
4 X - L5

(b} Why is it appropriate to use double arrows in the equations for part (a)?

> becawe the soluhion a'fgmaies be tpen  Hhe (Z} Sis o2

He rtackon -

(c) Why is carbonic acid a weak acid compared with hydrochloric acid?

> I oachally jonzes  while HCL  Cowmpledly isnizes in oluhin
I 7 i ]

Smmm—




